
RAMAANYA TALENT SCHOLARSHIP EXAMINATION  
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4. 6𝑥2 − 𝑥 − 2 = 0  
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5. 12𝑥2 + 4𝑘𝑥 + 3 = 0  

(a) 𝑘 = ±3 (b) 𝑘 = ±9 (c) 𝑘 = 4 (d) 𝑘 = ±2 

 

6. AP n n = 3n+4 

(a) (b) 

(c) (d)  

 

7. 2𝑥 , 𝑥 + 10 , 3𝑥 + 2  𝐴𝑃 𝑥  

(a) (b) (c) (d) 

 

8. =……… 

 

   (a) (b) 10 2𝑐𝑚 (c) (d) 

 

9. 
2 tan 300

1+tan 2300
=? 

         (a) sin 600 (b) cos 600 (c) tan 600 (d) sin 300 



10. sin250 + sin2100 + sin2150 + ⋯ + sin2900  

(a) (b) (c) (d) 

 

11.  

(a) (b) (c) (d) 

 

12.  

(a) 11 cm
2
 (b) 38.5 cm

2
 (c) 22 cm

2
 (d) 77 cm

2 

 

13. a,b,c AP
𝑎−𝑏

𝑏−𝑐
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𝑐
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14. 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 m:n  

    (a) 𝑚𝑛𝑎2 =  𝑚 + 𝑛 𝑐2 (b) 𝑚𝑛𝑏2 =  𝑚 + 𝑛 𝑎𝑐

(c) 𝑚𝑛𝑏2 =  𝑚 + 𝑛 2𝑎𝑐 (d) 𝑚𝑛𝑏2 =  𝑚 − 𝑛 2𝑎𝑐 

 

 



15. 2𝑥 + 𝑘𝑦 = 1 3𝑥 − 5𝑦 = 7 𝐾 = 
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16.  
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17.  

(a) (b) (c) (d) 
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19. PA PB O ∠𝐴𝑃𝐵 = 600

∠𝑂𝐴𝐵 =? 

 

 

 

  (a) (b) (c) (d)  

A 

B 

P O 



20. ∠BAC = 900 AD ⊥ BC  

  (a) BD.CD = BC
2 (b) BD.CD = AD

2

(c) AB.AC = BC
2 (d) AB.AC = AD

2 

 

 

                                                                    

 

21.  

(a) (b) 

(c) (d) 

22. 

 

   (a) 
sin 𝑖

sin 𝑟
= 𝑘 (b) 

(c) (d)  

A 

B D C 



23. 

 (a) (b) 

(c) (d)  

 

24. L A Ω

L / 2 2A  

(a)  Ω (b)  Ω (c)  Ω (d)  Ω 

 
 

25.  

(a) (b) (c) (d) 

 

26.  -15cm

 

(a) 

(b) 

(c) 

(d) 

 

27.  

(a) (b) 

(c) (d) 

 



28.  

(a) Cao (b) CaCo3 (c) Ca(ou)2 (d) 

 

29.  

(a) (b) (c) (d) 

 

30.  

(a) sn Pb (b) Ni  cr (c) Pb zn (d) Ni zn 

 

31.  

(a) (b) (c) (d) 

 

32.  

(a) 

(b) 

  (c) 

(d) 

 



33. 

 

(a)  (CHo) (b) (c=o)

(c)   
– 𝑐 − 𝑜 −

||
𝑜

 (d) (c-c1) 

 
 

34. 

( ) ( ) 10

( ) ( )  

35. HCL  

(a) (b) (c) (d) 

 

36.  

(a) (b) 

(c) (d) 

37.  

(a) (b) 

(c) RNA (d) DNA  

38.  



(a) (b) (c) (d) 

 

39.  

(a) (b) 

(c) (d) 

 

40.  

(a) (b) 

(c) (d) 

 

41. Why was Bholi's hair matted?  

 (a) It was entangled oiled  

 (b) It was never oiled or combed  

 (c) It was not combed regularly  

 (d) It was unkempt & oiled  

 



42. Ausable was going to raise the issue of the balcony with?  

 

 (a) Government                               (b) Management  

 (c) Max                                              (d) Fowler 

 

43. Why did the woman want him to break the lock of the safe?  

 
 (a) She wanted him to steal                    
  (b) She had forgotten the numbers 
 (c) She wanted to see if he could break it    
  (d) None of these  
 
 

44. What all did they do to repay? 

 
 (a) Sent away the maid                 
  (b) Change their lodgings 
 (c) Husband working the evenings & nights too    
  (d) All of there 
 
 

45. The summons for lutkins were for what case? 

 (a) Thief                                         (b) Murder 

 (c)  Cheating                                   (d) As a witness  

 

46. What is country's greatest wealth?  

 (a) Its minerals                             (b) Its people (South Africa) 

 (c)  Its technology                            (d) None 

 

47. Who secretly dissolved how wanda was being treated? 

 (a) Peggy                                           (b) Cocile 

 (c) Maddie                                         (d) Jake 



48. Name Ebright’s social science teacher? 

 (a) Mr. Weiherer                            (d) Dr. Urquhert 

 (c) James R. Wong                          (e) Taplow 

 

49. According to the narrator, would Anil feel upon finding out? 

 (a) Angry                                   (b) Fear         

 (c) Acceptance                         (d) Sad 

 

50. Why was seagull exhausted?  

 (a) Due to running fast            (b)  Due to strange energy  

 (c)  Due to crying                             (d) None of the above  

 

51. Choose the word which is opposite in meaning to given word  “Interim”.  

 (a) Sluggish                   (b)  Tentative 

 (c)  Permanent                             (d)   Interval  

 

52. In the following questions out of four alternative choose the word which is 
opposite is meaning to the gives word.  “Clandestine”. 
 

  (a) Forthright                    (b) surreptitious 

  (c) Wealthy                                      (d) Destitute 

 

53. In the following question out of the four alternatives choose the word which best 

expresses the meaning of the given word. ”Delicious”. 

 
 (a) Tasteful                                 (b) Hate  
 (c) Inedible                                        (d) Tolerable 
 
 
 



54. In the following question out of the four alternatives choose the word which best 
expresses the meaning of the given word.  “Attract”. 
 

 (a) Repel                            (b) Tempt 

 (c) Eager                                            (d) Delay 

 

55. Write following questions for alternative are given for the idiom/phrase. Choose 
the alternative which sent expresses the meaning of the idiom/phrase. 
“A Cakewalk”.  
 
 (a) Very close                      (b) An easy work 
 (c) To get into trouble                     (d) A Huge attraction 
 
 

56. Out of the four alternatives suggested, select the one that best expresses the 
some sentence in passive active voice. 
“I like him”.  

 
 (a) He was liked by me             (b) He is being liked by me  
 (c) He was being liked by me         (d) He is liked by me  

 

57. Out of the four alternatives suggested. Select the one which best expresses the 
same sentence is indirect/direct speech. 

 
Rahul said, '' yes I am mistaken. '' 
 
 (a) Rahul admitted that I was mistaken. 
 (b) Rahul said that he was on mistake.  
 (c) Rahul said that he is mistaken.  
 (d) Rahul admitted that he was mistaken 
 

58. Fill up the blanks with suitable preposition from the alternatives given under each 
Sentence. 

 
“My friend deals ----- cloth” 
 
 (a) In                                 (b) With 
 
 (c) Of                                                  (d) To 
 
 



 

59. In the following questions, a part of the sentence is underlined. Below are given 
alternatives to the underlined past (a), (b), (c) which may improve the sentence 
choose the correct alternative in case no improvement is needed your  

answer is (d). 

 
Twenty Kilometer’s are not a great distance in these days of fast moving vehicles. 
  
 (a) Is not a great distance            (b) Is not distance 
 (c) Are not a great distance           (d) No improvement 
 
 

60. For each of the following sentences four alternatives are give you are required to 
chose the correct meaning of the idioms given is the sentence :- 

 
He is a queer fish I have failed to understand him. 
 
 (a) Fanny person                  (b) Sensitive person 
 
 (c) Strange person                           (d) Quarrelsome person 
 
 
 

                                   

 

61.  

(A)   (B)    

  (C)  (D)  

 

62.   

(A)    (B)     

  (C)   (D)   



63.  

(A)    (B)     

  (C)   (D)  

 

64.  

(A)  (B)   (C)  (D)  

 

65.  

(A)  (B)   (C)  (D)  

 

66.  

(A)   (B)    

  (C)   (D)  

 

67.  

(A)  (B)   C)  (D)  

68.  

(A)  (B)   (C)  (D)   



69.  

(A)  (B)   (C)   (D)  

 

70.  

(A)  (B)   (C)  (D)  

 

71.  

(A) 73%  (B)  75%  (C)80%  (D) 54%  

 

72.  

(A)  (B)  

(C) (D)  

 

73. 

 

(A)  (B)  
(C) (D)  

 

74.  

(A)  (B)  (C)  (D)  

 



75.  

(A) 5342 KM.   (B)  4560 KM.   

  (C) 4311 KM.   (D) 5643 KM. 

 

76.  

(A)  (B)  (C)  (D)  

 

77.  

(A)  (B)  (C)  (D)  

 

78.  

(A)  (B)  (C)  (D)  

 

79.  

(A)  (B)  

(C) (D)  

 

80.  

(A)  (B) (C)   (D)   


